
EE 201 —  HW 7.18  Name__________________________________________

Find the Thevenin equivalent of the 
circuit at right.  For the source, 
Vm = 10 V, and ω = 5000 rad/s.  Sketch 
the Thevenin equivalent with the correct 
value of inductor or capacitor for the 
reactance of the equivalent impedance. 
 
 
 
 

_______________________________ ;  ZTh = ________________________________ 
 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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